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(Key Question)  Suppose an economy’s real GDP is $30,000 in year 1 and $31,200 in year 2.  What is the growth rate of its real GDP?  Assume that population was 100 in year 1 and 102 in year 2.  What is the growth rate of GDP per capita?  


Growth rate of real GDP = 4 percent (= $31,200 - $30,000)/$30,000).  GDP per capita in year 1 = $300 (= $30,000/100).  GDP per capita in year 2 = $305.88 (= $31,200/102).  Growth rate of GDP per capita is 1.96 percent = ($305.88 - $300)/300).
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(Key Question)  What are the four supply factors of economic growth? What is the demand factor? What is the efficiency factor?  Illustrate these factors in terms of the production possibilities curve.

The four supply factors are the quantity and quality of natural resources; the quantity and quality of human resources; the stock of capital goods; and the level of technology.  The demand factor is the level of purchases needed to maintain full employment.  The efficiency factor refers to both productive and allocative efficiency. Figure 25.3 illustrates these growth factors by showing movement from curve AB to curve CD.
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(Key Question)  To what extent have increases in U.S. real GDP resulted from more labor inputs?  From higher labor productivity?  Rearrange the following contributors to the growth of real GDP in order of their quantitative importance:  economies of scale, quantity of capital, improved resource allocation, education and training, technological advance.


The U.S. labor force grew by an average of about 1.7 million workers per year for the past 52 years, and this explains some of the growth in real GDP.  The remainder, and the majority since at least 1995, is from productivity growth.  Refer to Table 25.3.  Other factors have also been important (contributing through productivity improvements).  Factor importance in descending order:  (1) Technological advance—the discovery of new knowledge that results in the combining of resources in more productive ways.  (2) The quantity of capital.  (3) Education and training.   (4) Economies of scale and (5) improved resource allocation. 
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(Key Question) Relate each of the following to the recent productivity acceleration:

a. Information technology

b. Increasing returns

c. Network effects

d. Global competition

The rate of productivity growth has grown substantially due to innovations using microchips, computers, new telecommunications devices and the Internet.  All of these innovations describe features of what we call information technology, which connects information in all parts of the world with information seekers.  New information products are often digital in nature and can be easily replicated once they have been developed.  The start-up cost of new firms and new technology is high, but expanding production has a very low marginal cost, which leads to economies of scale – firms’ output grows faster than their inputs.  Network effects refer to a type of economy of scale whereby certain information products become more valuable to each user as the number of buyers grows.  For example, a fax machine is more useful to you when lots of other people and firms have one; the same is true for compatible word-processing programs.  Global competition is a feature of the New Economy because both transportation and communication can be accomplished at much lower cost and faster speed than previously which expands market possibilities for both consumers and producers who are not very limited by national boundaries today.

